CERTSREEE

Free Questionsfor VCS-278 by certsinside
Shared by Burt on 07-06-2022

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1

Question Type: MultipleChoice

What happens if the "Maximum data streams" property is enabled in the General tab of Client Attributes for a particular client?

Options:

A) NetBackup ignores "Maximum concurrent jobs" per storage unit and uses either "Limit jobs per policy” or "Maximum data streams’,
whichever is lowest.

B) NetBackup ignores "Maximum jobs per client" and uses either "Maximum data streams" or "Limit jobs per policy', whichever is lowest.

C) NetBackup ignores "Maximum concurrent jobs" per storage unit and uses "Maximum jobs per client” or the "Limit jobs per policy",
whichever is lowest.

D) NetBackup ignores "Limit jobs per policy" and uses either "Maximum data streams" or "Maximum jobs per client", whichever is lowest.

Answer:

Question 2




Question Type: MultipleChoice

In which scenatrio is "Use Accelerator" unavailable in a backup policy?

Options:

A) for VMware virtual machines with a Linux guest OS.
B) for virtual machines hosted on a Hyper-V Host using WMI.
C) for a NetApp NDMP filer.

D) for an Exchange database availability group (DAG).

Answer:

D

Question 3

Question Type: MultipleChoice

When NetBackup makes more than one image copy simultaneously during the backup, it is called



Options:

A) Simultaneous copy
B) Inline copy

C) Duplication copy
D) Storage life backup

Answer:

B

Question 4

Question Type: MultipleChoice

When NetBackup makes more than one image copy simultaneously during the backup, it is called



Options:

A) Simultaneous copy
B) Inline copy
C) Duplication copy

D) Storage life backup

Answer:

B

Question 5

Question Type: MultipleChoice

What happens if the "Maximum data streams" property is enabled in the General tab of Client Attributes for a particular client?

Options:

A) NetBackup ignores "Maximum concurrent jobs" per storage unit and uses either "Limit jobs per policy" or "Maximum data streams’,
whichever is lowest.



B) NetBackup ignores "Maximum jobs per client" and uses either "Maximum data streams" or "Limit jobs per policy', whichever is lowest.

C) NetBackup ignores "Maximum concurrent jobs" per storage unit and uses "Maximum jobs per client" or the "Limit jobs per policy",
whichever is lowest.

D) NetBackup ignores "Limit jobs per policy" and uses either "Maximum data streams" or "Maximum jobs per client”, whichever is lowest.

Answer:

Question 6

Question Type: MultipleChoice

In which scenario is "Use Accelerator” unavailable in a backup policy?

Options:
A) for VMware virtual machines with a Linux guest OS.

B) for virtual machines hosted on a Hyper-V Host using WMI.

C) for a NetApp NDMP filer.



D) for an Exchange database availability group (DAG).

Answer:
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